STXS bin

c(H— WW)/c(H— WW)gy

c(H — WW) [pb]

o(H — WW)gy [pb]

ZH (Z — leptons); p¥ > 150
ZH (Z — leptons); p¥ < 150
WH (W — leptons); py. > 150
WH (W — leptons); p¥ < 150
qqH; 60 <my < 120

qqH; P > 200
qqH; py < 200; my > 700
qqH; py' < 200; 350 < 1 < 700
ggH; pi > 300
ggH; 200 < pt < 300
ggH; >2j
ggH; 1j; pil > 60
ggH; 1j; py < 60
ggH; 0j

—0.17}2 (stat) £ 0.1 (’cheo)Jr 2 (exp)
3375 3 (stat) + 0.1 (theo) {3 (exp)
3. 8“ 12 (stat) + 0.1 (theo) 05 5 (exp)
1.6 4 0.8 (stat) % 0.1 (theo) "7 (exp)
4.1 + 2.6 (stat) 707 (theo) + 2.2 (exp)
1.1707 (stat) = 0.1 (theo) £ 0.3 (exp)
0.7 £ 0.3 (stat) £ 0.1 (theo) £ 0.2 (exp)
0.4758 (stat) £ 0.2 (theo) & 0.5 (exp)

—2.1717 (stat) ") (theo) "} (ex

p)

2.3+ 0.9 (stat) £ 0.1 (theo) £ 0.6 (exp)
1.8 £ 0.6 (stat) £ 0.4 (theo) £ 0.4 (exp)
0.41 4 0.25 (stat) 040 (theo) + 0.17 (exp)
1.7 £ 0.3 (stat) £ 0.2 (theo) £ 0.2 (exp)

0.74 4 0.07 (stat) & 0.04 (theo)

0.08
0.07

(exp)

<0.03

0.10 £0.03
0.8703
0.06 £+ 0.04
15+1.2

0. 17+0 11

—0.10

+0.011
0.023 5419

0.04 £0.10

<0.04

0.22£0.10
1.5+07

05+04
427 ¢

0.139 £ 0.013
0.030 £ 0.004
0.22 £0.02

0.035 £ 0.005

0.36 £ 0.01
0.15+0.02
0.032 £ 0.004
0.11 +£0.03

0.028 £+ 0.009
0.09 £0.02
09+04
1.15+0.16
1.5+02
58+0.3




